8 / 6 5 4 3 c 1
Il Il Il v Il Il

m

i

NOTES: (UNLESS DTHERVISE SPECIFIED) THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC. T DESRCEQ;ETII%'LS o
RATED DESIGN LOAD +46/-52 PSF,

SECTION HEIGHTS MAY VARY TO CREATE VARIOUS DOOR HEIGHTS, 24” MAXIMUM SECTION HEIGHT. ER P00 NEW DRAWING 8/28/18 | ESC
MINIMUM 1 OVERLAP ON BOTH JAMBS REQUIRED TO MEET NEGATIVE DESIGN PRESSURES,

DOOR SKIN MUST BE 30,000 PSI MIN, YIELD STRENGTH,
JAM?QL%GHRCQ/LI%)(EI[MS OF HEIGHT)XDESIGN PRESSURE)
@081 FOOTX4600 AND -52.00)(371.68/-42016) LB T OVERLAP REQUIRED 1" OVERLAP REQUIRED——=7——
7. JAMB FASTENER REQUIREMENTS:

Fy =(1/2 DOOR WIDTHX FT DOF HEIGHTXDESIGN PRESSURE)

1
g
gTESTED iN ACCORDANCE WITH DADE COUNTY PROTOCOLS TAS 201-94, TAS 202-94, & TAS 203-94, 32442 | A |ADDED IRC/IBC NOTE 8/21/20 | TLC
6

Fy =371 LBS.
18 DOOR SKIN MATERIAL SHALL BE GALVANIZED ACCORDING TO ASTM A-525 TO G40 MIN, WITH BAKED-UN PRIMER, AND BAKED-ON POLYESTER PAINT TOP COAT. DOCR JaKB
9, FOR ANCHORING INTO WOOD,USE ONE 5/16° LAG SCREW PER TRACK BRACKET WITH 1-1/p” EMBEDMENT JNTO SOUTHERN PINE (6=0.55) TR BETTER, SECTION B-B
0., WELD SLOT ON ANGLE 3/32" X 1 LONG ON 12’ CENTERS, ‘IF WELDING MOUNTING OPTION IS CHOS SCALE 11 12

11 LIFT UP MECHANISM-MANUAL, CHAIN LIFT, OR OPERATOR IS NOT PART OF THIS APPROVAL.

12, STANDARD LIFT, HIGH LIFT, VERTICAL LIFT, AND LOV HEADROOM TRACK IS AVAILABLE. FOR LOW HEADROOM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP BRACKET VITH A MIN OF

(3) 174 - 14 X 7/8 SELF DRILLING CRIMPTITE SCREWS IN LIEU OF THE BRACKET SHOWN ON DRAWING. U-BAR ON TOP SECTION SHALL BE INSTALLED ON TOP OF LHR TOP BRACKETS.

ﬁ MHAEMCMTRDURTSSIM&TMD(CEM ééaulﬁ)&/? SELF DRILLING CRIMPTITE SCREWS AT ALL HINGE LOCATIONS AND (2> BETWEEN EACH INTERMEDIATE HINGE.

19, IMPACT RESISTANT GLAZING DPTION- IMPACT RESISTANT GLAZING SYSTEM MAY BE INSTALLED IN TOP OR INTERMEDIATE SECTIONS. GLAZING SHALL BE 1/4" POLYCARBONATE. FASTENED WITH # 8

X 1" SMS, SEE DETAIL F-F ON SHEET 2 FOR ASSEMBLY DETAILS. MAXIMUM OF ONE GLAZED SECTION,

16, THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE WITH

CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAVING.

17. A 2-1/4" X 6-3/8" X 22 GA BACKER PLATE IS TO BE LOCATED AT EVERY CENTER HINGE AND 3’ X 3-3/4" X 22 GA BACKER PLATE AT EACH END HINGE LOCATION, EACH IS ADHERED TO THE INTERIOR DF
THE SECTION BACKER STEEL. 5/16 X 1-5/8" LAG SCREW

ACER STEEL HAVING A MINIMUN 26 GA (MIN 3 FOR FLAG ANGLE)

S

JOINT SEAL / POLYAMIDE 5#1%@1&3& WITH A MINIMUM YIELD STRENGTH ORIZONTAL TRACK CABLE DRUM SHAFT TORSION SPRING COUNTERBALANCE
£ " (I \ I \”\E"\” R
/PDLYURETHANE FOAM /THERMAL BREAK = D - -, 825 {1.0 '\MMHM\MM M\MM MM MM M‘\J\EMlMM\MMM»MuMyMMvMM M\MMM |_4|I0
‘ T = % o= | 2805 1 SELF DRILLING SCREW NOT REQUIRED AT THESE LOCATIONS =IETIRE!
ryrs W 7 s T sl _ i
1800 £03 _ ] ' e == = i ———
| FLAG ANGLE { e e e e e R I ——— — J"
3 | : 1313 MI{NIMUM G- S 7 H— H— — -
10.40 | :
NOTCHED DOUBLE END ’
2080 13 — 15" MK CAP FIR GLAZED A | I e | | e e | R
' SECTIONS ONLY—1 —
i) - b
200 | lqg,gm TYP. 1 OPTIONAL IMPACT GLAZING |
= - =
SECTION A-4 174 - 20 STUDS VITH (EACH CORNER)
SCALE 11 4 1/4 - 20 HEX NUTS: — T~ _ _ _
12 MAX END HINGE 7 = 12
E ! 4 STRUT 1 PER SECTION ~ ] [ !
SECTION HEIGHT - 25" ———— 16 G STIFEIED_1 X6 6 == - = -
SECTION A-A ENDCAP DETALL 12 MAX SIDE LOCK~ — — — 12’
16 GAUGE ENICAPS (8"
1/4 - 20 X 9/16" TRACK WIDE X SECTION HEIGHT - _ _ _
BOLT AND 1/4 —20 HEX NUT 1o Max 125" HIGH) EACH ENDCAP 12
AT EACH JAWB BRACKET~_ IS ATTACHED TO THE : A
ST, —+  TO0R SKIN VITH @ #10 :
SXe OF T\ SHEET METAL SCREWS i
A i ) ‘l. VERTICAL TRACK 12" MAX R0LER” ] = = = o
2, ) 2 TRACK - 13 GA _H |
;’ . o ',' 3 TRACK - 12 GA/{ BOTTOM FIXTURE—]
Bok SN iy SR , . aren . g
4 J.C.VOELKEL e [HL e § 10 max 3* STRUT BOTTON T {
9' T T . ..Jo;m opaly sonea SECgT,IIJXN e%NLY P A |
0,2~ 133174 & Pristian vdene ' 2-1/4' X 6-3/8" X 22GA INTERNAL STEFL BACKER o e o - e
";p e LICENSER é{“’%elkel 20 0500 JiM BRAUKE] SPACING PLATE (EACH CENTER HINGE LOCATION) 162" WX DODR VIDTH AND 240" MAX DOR HEIGHT WALL ANGLE ANCHIR SPACING
ONLESS ITAERWISE SPECIFIED APPROVALS __DAT e
W f(gﬁ&f; 780w e INTERPRET DS & TS |TOLERANCES: TRAVN C CORAD —9/28/18] | Dalton.  PENSACOLA, FLORIDA
ETANR  ANGLE TRACK ) PER ASHE Y14'5M X, ozt LRI DKORNISH - | o
2" TRACK - 13 GA ALL DIMS ARE N X =103 APPROVED DESCRIPTION
J. CHRISTIAN VOELKEL, PE VEATHERSEAL 3" TRACK - 12 GA T XXX = %01 MATERIAL - WINDLOAD WODELS 4600/4650/6600/8300/
312 N, NEV WARRINGTON ROAD, UNIT 1A (ASTRAGAL) ANGULAR = +'5° ST - 8500/8650/5150/5200/ TMS15/THS2S, +46/-52PSF
- PENSACLA, FL St SECTION D-D " DIVIS&HMRDEDEMERHEAD e L < 0251 = +004/-003 WINDLOAD SPECIFICATION  [SIZE DVGDA]MED e — REV
FL PE 82279 TX PE 133174 SCALE 1+ 4 SCALE 1+ 4 PEN%%%SDI_AADD}SL%MHMEIXESM DIAMQSE %RRI(;TM%RLW%EHQBMM?PIY_ DESMMMMP w ﬂ25>1 g]] g[[]][[]] _ +888; 88% OPTION CODE 2341 D D—I363475 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR , FEATURES & MUST MEET APPLICABLE - .
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS, (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, (ALl GEUMETRY GOVERNED BY 3D CAD DATABASL SCALE 142 | UDM = EA |SHEET 1 OF 4

i asen s e 8 ' 7 6 5 ? R n T 3 5 . T 1



chris
Texas


8 7 6 S5 4 3 2 1

———4" EDGE DISTANCE 3" £DGE DISTANCE
275" EDGE DISTANCE
T Z 7
3/8" X 3" LAG SCREV, VITH 1-
1/8" WASHER, MAX. OF 18" OC,
MIN. 2-3/4" EDGE DISTANCE
3/8" DIA SIMPSON TITEN HD
; R J L3/8" DIA SIMPSON TITEN HD FASTENER, MAX. OF
X6 %3P (=059 MIﬁASETMEBNE%R'WMﬁDX‘M?NF %UUD‘EQ %QD/U‘H % 18" 0.C, 2-3/4" MIN. ENBED INTO MIN. 2000 PS]
IR BETTER~ FILLED CMU, MIN, 4" EDOE DISTANCE———— 5 v CONCRETE, MIN, 3' EDGE DISTANCE
o . T2 X 6 43P (G059 IR BETTR———
171/8 D‘D‘ \A/ASHER — \171/8” D‘D‘ \A/ASHER
WOOD MOUNTED T0 # 3 SOUTHERN PINE SUBSTRATE WOOD MOUNTED T0 GROUT FILLED MASONRY WOOD MOUNTED T0 2000 PSI -
BLOCK DETALL CONCRETE DETALL
3/32" -1 ' DGE DISTANCE
e A e
, I j 1) 3/8" DIA, SIMPSON TITEN HD FASTENER, 2-3/4°
S5/16' X 1-5/8" LAG SCREV — Faw FDGE DISTANCE @DNR 3M/DlU6NHTNHGmK STEEL 7 \/ 1‘>AS3T/E8NERDM2§3I/M4R§DM%HETMEBNEDH%W 0 MIN. EMBED INTO MIN. 2000 PSI CONCRETE, MIN
INTO MIN 2 X 6 # 3 SP (G=055) g ; ‘ N, 3 £DGE DISTANCE
OR BETTER. (SEE DOCR 7z 13 GA CONT. == OPTIONAL: VAL ANGLE MAY BE 100 FEL DROUT FILLED CHU, MIN. 4 2) 3/8" DIA HILTI KWIK BOLT 3, EXPANSION
FLEVATION DN SHEET 1 FIR < WALL ANOLE— ATTACHED 16 SUPPORTING STCEL i T ANCHOR, 2-1/2* MIN, EMBED, MIN. 4" EDGE
FOLE LICATIONS = TRACK CLIP —— VITH WIN, ) 174 ~ 14 X 1" SELE ) EXPANSION ANCHIR, o-1/2" MIN, EMBED R
16 GA JMB / S T——1/4-20 X 916 W Ve G, e oo MIN. 4" EDCE DISTANCE E ANCHOR, 1-5/8" MIN. EMBED, MIN. 4 EDGE
BRACKET R L / FLEVATION DN SHEET 1 FOR HOLE ANCHER ANCHIR DISTANCE
LOCATIONS) 1" 0.0, WASHER *(SEE DOOR ELEVATION ON [ 0.D. WASHER K(SEE DOOR ELEVATION ON
SHEET 1 FOR HOLE LOCATIONS) SHEET 1 FOR HOLE LOCATIONS)
MOUNTING TO WOOD MOUNTING TO STEEL MOUNTING TO GROUT FILLED MASONRY MOUNTING T0O 2000 PSI
JAMB DETALL JAMB DETAIL BLOCK DETAL CONCRETE DETAIL
SECTION E-E
SCALE 1+ 4 13 GA MIN, WIDE BDDY END HINGES
#1 END HINGE I
- INTLIGHT LPERING 5L TRALL INTERNAL STEEL BACKER PLATE ADHERED 10 INFERIR OF THE ATTACHED WLTH (6) 1/4-14x7/8;
ADHERED TO INTERIOR DF THE , SECTION BACKER STEEL, ?e%FDRW%%HGA%EIMIEUBTDEAR%CM
1/4" POLYCARBONATE SECTION BACKER STEEL,  —

GLASS BITE 05" —
1 _—INTERIOR FRAME 6063-T6 ALUMINUM

13 GA ROLLER SLIDE ATTACHED

¢" R 3’ ROLLER WITH 7/16" DIA. 1144
WL SHAFT

EXTERIOR FRANE / N8 X 1 SHEETHETAL SCREW EHL}DZNEIXNLUTR%NW&HTEQ%LD{ 18 ype- fopo —
6063- %DDADLRUMSE%ﬁ o 7/16 DIA, STEMS TOP
TOP FIXTURE “L* REINFORCING AND BOTTOM ROLLERS PUSH NUT REQUIRED AT FACH ROLLER
WINDDW DETAIL ANGLE BRACKET BUSH NUT LOCATION. 1/4° MAX BETWEEN PUSH NUT
_— AND BRACKET DR HINGE
SCALE 1+ 4
DETAIL H DETAIL T
13 GA BOTTOM FIXTURE |
SCALE 1+ ATTACHED 10 SECTION WITH SCALE T4
(4) SCREWS 1/4 - 14 X 7/8" SELF
DRILLING CRIMPTITE SCREWS,
RN TR e
SN INTERNAL STEFL BACKER PLATE . :
_SoKE OF Te by ADHERED T INTERIDR OF THE RIPTE EEGE, (it AR
P oW SECTION BACKER STEEL,
F . ) 7/16" DIA, STEMS TOP AND
2 o) BOTTOM ROLLERS
P4 * 2 [ 4 '
7 JCVOELKEL 4 INTERNAL STEEL BACKER PLATE \PUSH w
Ak SRR A ADHERED TO INTERIER OF THE SECTION AT
f.‘O . 133174 12"// BACKER STEEL. DETAL K
0,4/, O &7 14 GA CENTER HINGE ATTACHED SCALE 1+ 4
Wk /CENSE N WITH (4) 174 -14 7/8" SELF
WISioNAL Ve — DRILLING CRIMPTITE SCREWS UNLESS OTHERVISE SPECIFIED APPROVALS  TATE
N o 0 ) THRD MIGLE PROVECTON INTERPRET NS & TOLS TOLERANCES: DRAWN F. CONRAD __B/08/18 PENSACDLA, FLORIDA
o @% PER ASME Y14.5M IS CAE)ECRKDEVDED D KRNISH -
X =03 - ~ DESCRIPTION
J CHRISTIAN VIOELKEL, PE | ALL %%%E@RE IN X =+ 00 MATERIAL - WINDLDAD MODELS 4600/4650/6600/8300/
ANGULAR = £.5° - 8900/8650/3150/5200/TMI15/TM329, +46/-92PSF
312 N NEW FYEANRSRAIEE[EN FRLDAD' UNIT 14 _— A DIVISION OF OVERUEAD DO NOT SCALE HOLES: e 3 FINEA DADE COUNTY, 162" MAX WIDTH
’ } DOOR CORP DIMS CIRCLED WITH SYMBOL * <INSP-IBNY : + WINDLUAD SPECIFICATION SIZE|DWG  NE, REV
PRDFESSIDNAFLL EPNEGIiEEg}S STEXALP Epégiﬁﬂ ONLY PR o PENACI A L ORIDA st | pocE CRUTICAL TU QUALTEY DESIGN Do = i PTHON LOE el ) D-363475 A
/ , FEATURES & MUST MEET APPLICABLE
VERIFICATION OF WINDLOAD CONSTRUCTION DETALLS, (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, |ALL GEOMETRY GDVERNED BY 3D CAD DATABASE: gmg \ UOM = EA \SHEU 2 OF 4

8 ‘ 7 6 5 t . 4 ‘ 3 2 1
ENG F20.041D-FORM REV A

.


chris
Texas


8 7 6 5 4 3 2 1
1 v

>

NOTES: (UNLESS OTHERWISE SPECIFIED)
LONE 4* STRUT PER SECTION, AND ONE 3 STRUT PER BOTTOM SECTION, ATTACHED
. ; ' / (12) SECTION DOORS WITH
WITH 1/4-14X7/8" SELF DRILLING CRIMPTITE SCREWS. %)8 3?‘”80%%8%%? uUmeS
LOCATED A5 SHOWN <
TRACK 13 GA MIN TRACK (11) SECTION DOORS WITH
CONTINUOUS (1) 4" 16 GA 80 KSI U~ BARS
VALL ANGLES 1 11T 13 G HIN Tl 13 GA MIN E () 3 20 GA 80 KSI U- BARS
1/4"-20 TRACK ° CONTINUOUS ° TRACK CONTINUOUS | g TRACK LOCATED AS SHOWN <
[R_CARRIAGE BOLT 11 GA MIN TRACK ] WALL ANGLE (] WALL ANGLE o
L WITH 1/4"-20 NUT CLIP SEE /4720 TRACK 1 GA MIN TRACK AL GA NN (10) SgCHDN DOORS WITH
i b acon) SCHEDULE °lamos| TR CARRIAGE BOLT Z ceows |~ CLIP SEE SCHEDULE g gﬁé%c%@m %%} 8066%A8%0K§1Uu BB;ARRSS
" [|IT16 GA STIFFENEND WITH 17420 NUT (2) 1/4'-20 TRACK LOCATED AS SHOWN
[]l|| JAMB BRACKET ] () 1/4-20x9/16" (] R CARRIAGE BOLT ] ) N
@) 1/4" X 7/16 SEMI TRACK BOLT AND WITH 1/4"-20 NUT NALI | @ 17420 TRACK (9 SECTION DOORS VITH =
A TUBULAR  RIVETS JOL 1/4-20 HEX NUT \ﬁ_/ RSW - 5 o E/RNﬁAlR/R%*GEEU BNDULTT (9 4" 16 GA 80 KST U- BARS
3/3¢ () 3 20 GA 80 KSI U- BARS
TYPICAL TRACK CLIP LICATED A5 SN %
TYPICAL TRACK AND JAMB TYPICAL TRACK CLIP TYPICAL TRACK CLIP I I
RIVETING DETAIL LA IRELR LT (8) SECTION DOORS WITH
PASTENERS DETAIL RLVETING D TAIL BOLTING DETAIL WVELDING DETAIL 8 4 16 GA 80 KSI U BARS =
OPTIONAL WALL ANGLE TRACK (D) 3" 20 GA 80 KSI U- BARS
LOCATED AS SHOWN
DETAIL M
SCALE 1+ 4 \ M ‘E M
(7) SECTION DOORS WITH = =
- - (1) 4" 16 (A 80 KSI U~ BARS
() 3* 20 GA 80 KSI U- BARS
| LOCATED AS SHIWN <
= B (6) SECTION DOORS WITH = E =
(6) 4" 16 (A 80 KSI U~ BARS
== : (1) 3" 20 GA 80 KSI U- BARS
o . LOCATED AS SHIWN. < ‘ ‘
] (5) SECTION DOORS WITH - = E =
3 4 Ch 8 (31 - BhRs
DOOR HETGHT LOCATED AS SHOW < E
(4) SECTION DOCRS WITH = = 1 =
? DOOR HEIGHT (4) 4716 GA B0 KSI U- BARS
L (1) 3 20 GA 80 KSI U~ BARS
LOCATED AS SHIWN <
- L : = i SR S
STANDARD LIFT LW _HEADROOM —
_IRACK DETAIL TRACK DETAIL j \
| SR L, - - S
—1ax
DRILLING CRIMPTITE SCREWS AT EACH E E E —
Ly HINGE LOCATION AND (2) BETWEEN EACH
. — @ o L st s CENTER HINGE FOR CACH STRUT
| SCALE 1+ 12 e o 7 & B : ‘@‘ ‘% % ,E JE‘
g i is P P
1y " STRUT ATTACHED WITH (2) 1/4-14x7/8"
SN 1= SELF DRILLING CRIMPTITE SCREWS AT t B b g b
= <¢ OF TEPW ' FACH HINGE LOCATION AND (@) BETWEEN
;—%/&._..- ------- agh | . FACH CENTER HINGE FOR EACH STRUT
2 xS o) i . . :
£ 3k £ & 8 FoE b
’lllll.lll Ssss0800800000000000 ’
4 JCVOELKE ...... j DETAIL O STRUT LOCATIONS
% . SCALE 1: 4 B
l" 133174 ‘g_’/ SCALE 120
L) .. ’
e N A
WOSIONAL ¥ ONLESS OTHERWISE SPECTFIED APPROVALS  DATC
Cd ' . )
N THRD AVLE PROLECTIN INTERPRET DIVS & TOLS TOLERANCES %@&N@ [, CONRAD _ 8/28/18 PENSACOLA, FLORIDA
X =t . KIRNISH -
DOOR HEIGHT J00R HEIGHT @% PLRASHE Y1401 - 403 APPROVED - — DESCRIPTION
J, CHRISTIAN VOELKEL, PE ALL %%SHEASRE IN = 0] MATERTAL - WINDLIIAD MODELS 4600/4650/6600/8300/
ANGULAR = £ 5° N 8500/8650/5150/5200/ TMS15/TMS2S, +46/-52PSFH
312 N NEW E)/EANRSRAIEE[EN FRLDAD' UNIT 1 A DIVISION OF DVERHEAD DO NOT SCALE HOLES: 004003 FINISH DADE COUNTY, 162" MAX WIDTH
, : i / 09l =+
fLPE 82279 TX PE 133174 WO LT VERTICN LI DOOR CORP DINS CIRCLED WITH SYMBOL ' (INSPYIBNY 4 oci 935 — Yoy~ 003 VIRILDAD SEECIFICATION. | SLZE VG N REV
/ VERTICAL LIFT 3395 ADDISON DRIVE ARE CRITICAL TO QUALITY DESIGN D D-363475 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR TRACK DETAIL TRACK_DETAIL PENSACOLA, FLORIDA 32514 |  FEATURES & MUST MEET APPLICABLE 2 0000 — 006/ 003
VERIFICATION OF WINDLDAD CONSTRUCTION DETAILS, (B30)-474-9890 IN-PROCESS INSPECTION STANDARDS, |AEL GEMETRY GUVERNED BY 31 CAD DATABASL: SCALE 112 | UDM = EA | SHEET 3 [F 4

8 t 4 ‘ 3 2 1
ENGF 20 041T~(FTRM REV A



chris
Texas


8
1

NOTES: (UNLESS OTHERWISE SPECIFIED)

|

I, FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.

BOTTOM FIXTURE, BB-1?
13 GA

BOTTOM FIXTURE DETAILS

BRACKET, TOP RES, LMR
12 GA

14 GA
1 END HINGE / CENTER HINGE

13 GA
END HINGES

HINGE DETAILS

LOCK DETAILS

Lo - LENGTH = DOIR WIDTH -1
2,750 ‘ .
| T3750 r e R 1,800 L Lo T — | LENGTH = DDD\R wIDTH <L — a0 i
AT 1 o219 —2790 — H * L .
IREE 549 | 2375
4175 ‘
3675 I L U 2250 4,000 . — i —
& O & Tl
| . 1290 U | 5061
—I2500 T ——034 THICK
TOP FIXTURE  ASSY, BASE, TOP_ FIXTURE "L REINFORCING ANGLE BRACKET ROLLER CARRIER LR (7-4) // //
o iRC) Ll - 4 STRUT (UBMR) 3 STRUT IPEN YL (UBAR)
LA 80 KSI MIN, YIFTD STRENGTH, 4° X 16 GA 80 KSI MIN VIELD STRENGTH, 3 X 20 GA
TOP_FIXTURE DETAILS STRUT DETAILS
— H3IR 3% —
] SECURED WITH (4) 605879-0002 SCREWS 1/4-20 X 5/8"
/[\ I 7 / 234 THROW
O -
O O O O ‘
0 8215 0] 5561 : [
, 0, o 218 o 73w 7380 1189
. @ Oﬂ 0 410 J—<!oooo 1 "
@gD | e J\/HUU + 7 o0 1000 ¥ 150 THICK
i 750
> 750 e SIDE LOCK ASSY ¢

2X 8,13
ﬁ%ﬂ

.

ENG F20.041D-(FORM REV A)

9,360 REF, — 9,000 REF, |
| 0437 REF. L’—%eo REF. —u 0437 REF, 1 P433 REF, W ) 4‘ 1730 |
= 1811 REF. T uﬂ[ 1811 REF. — u@ 2,835 REF. B0 &
T 940 | =
SN, 4604 NYLON TIR ‘46UJ TNSTEEL TIRE ‘7094‘ [
=53 OF T, // ” J X 03]
I SRR AN ROLLER ASSY, 2" WL 1144 ROLLER ASSY, 2" WL 1144 3,750
e e o0 e (OIEEL RILLER) ROLLER ASSY. 3' VL 1144
g s el JAMB BRACKET =
,’ll*l.:l..ll n.ocoon--oco-no.‘-o*o-" 16 EA ‘:} L
4 J.C.VOELKEL ¢ e Jlo| .
"lull.. --------------------- " -.--Il }74‘8064‘ ‘1 19
<~ 133174 & L
""90"-. ( o .".Q‘/‘I’/ ROLLER STEM ASSY DETAILS BRACKET DETAILS FLAG ANGLE
",(s : .{QENS.%-'&,\é: 13 GA
W SIONR.\_?»‘“\-" UNLESS OTHERWISE SPECIFIED APPROVALS  DATE
\ - THIRD ANCLE: PROJECTION TOLERANCES: DRAWN . CONRAD  8/78/18 PENSACOLA, FLORIDA
A S U INTERPRET DIMS & TOLS X . CHECKET T KIRNSH
@% LS Yo W= APPROVED | Dggcmmm
J CHRISTIAN VOELKEL, PE ALL DIMS ARE IN X0 = 200 MATERTAL WINDLOAD MODELS 4600/4650/6600/8300/
312 N. NEW WARRINGTON ROAD, UNIT 1A INCHES ANGULAR =15 R 8500/8630/5150/5200/ THS15/THG25, +46/-52PSF
rLPE 82299 TX PE 133174 DOOR CORP DIMS CIRCLED WITH SYMBOL * <INSP-IRNY W (0251 = +004/-003 WINDLOAD SPECIFICATION  [SIZE|DWG ND. REV
3395 ADDISON DRIVE 0.51-0.500 = +UU6/ 003 OPTION CODE 2341 _
, ARE CRITICAL TO QUALITY DESIGN S B30 - 1008003 D D-363475 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR PENSACOLA, FLORIDA 32514 FEATURES & MUST MEET APPLICABLE b e ety COVERVED. B 30 CAD TATABASE:
VERIFICATION OF WINDLOAD CONSTRUCTION DETALLS, (850)-474-9890 IN-PRICESS INSPECTION STANDARDS, SCALE 112 ‘ UM = ‘SHEET 4[F 4
8 ‘ 6 5 t 4 ‘ 3 2 ‘ 1


chris
Texas


		2020-09-09T16:38:20-0500
	John Christian Voelkel




